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NEW
2018
Part II 3-Tier
PHYSIOLOGY
. PAPER—II
(General)
Full Marks : 90
Time : 3 Hours
f‘he Sfigures in the right hand margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

lllustrate the answers wherever necessary.

Group—A

Answer any ftwo questions, taking at least one question

from each Sub-group. 2x15

Subgroup—A(a)

1. (a) Describe the process of origin and propagation of

nerve impulse in non-medullated nerve fibre.

(Turn Over}



(b) Describe the process of synaptic transmission through

a chemical synapse. {3+6)+6

2. (@) What do you mean by upper motor neurone ?

{b) Describe the origin, course and termination of extra

pyramidal tract with a neat diagram.

(c) Write the function of brain stem.
2+(3+3+3)+4

3. (a) Describe the mechanism of heat loss and heat gair;

is human body.

(b) Discuss in brief the role of hypothalamus in regulation

of body temperature.

(c) Write the functions of skin. (3+3)+6+3

Subgroup—A(b)

4. a) Describq the origin, course and termination of visual

pathway withr neat diagram.

(b) Discuss the chemical changes of retina on exposure

to light.
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(c) What are light and dark adaptation ?
(3+2+2)+5+1}A+1l

5. (a) Name the hormones secreted from testis ?

(b) Write the function of testicular hormones.

(¢} Describe the various phases of menstrual cycle,
2+6+7

6. (a} Describe the histological structure of adrenal medulla.

{b) Name the hormones secreted from adrenal medulla

including their function in brief.

(c) Describe the origin and function of renin-angiotensin

aldosterone system. (4+2+4)+2+3

Group—B

Answer any five questions, taking at least two questions

from each Sub-group. ' 5x8
Subgroup—B(a)
7. (a} What are the differences between CNS and PNS ?

(b) Write a short note on myelinated nerve fibre. 4+4
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8. Describe the role of insulin and glucogon on blood sugar

regulation. 4+4

9. (a} What is condition reflex ?

(b) What do you mean by simple and complex reflex

action ?

(c) Write down the properties of reflex action.
2+({1%+1%)+3

10. (a) Describe briefly the functions of pons.

(b} Mention the important functions of basal ganglia.
4+4

11. (a) What is implantation ?

{b) Describe the role of hormones for maintenance of

pregnancy. 2+6
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12.

13.

14.

15.

- 16.

Subgroup—B(b)

(a) Describe the neural pathway of taste sensation.

(b) What is gustatory adaptation ? 6+2

How does spermatogenesis take place ? Describe in brief

the role of placental hormone in our bddy. 4+4

(a) What is local hormone ? Give example

(b) State the functions of melatonin in human body.
(2+2)+4

(a) What do you mean by myopia and hypermetropia ?

(b} How such errors are corrected in man ?
(2+2)+(2+2)

(a) What is Olfactometer ?.
(b) How olfactory sense is perceived by man ?

(¢) What do you mean by olfactory adaptation.
2+4+42
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Group—C

Answer any five quéstions, taking at least two questions

17.

18,

19,

20.

21.

22,

from each Sub-groups. 5x4

Subgroup—Cia)}

Briefly describe the role of Ca2?* during muscle

conitraction. 4

What do you mean by silent and Broca's area of cerebral

cortex. 2+2.
Briefly describe the hormonal control of lactation. 4

Write notes on :

{a) Tetanus,

{b) Refractory period, 2+2
Differentiate between estrous and menstrual cycle. 4

Subgroup—C(b)

What is ADH ? Mention its function.
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23. (a) What is Spinal Shock ?
(b) What is accommodation? 2+2
24. (a) Name the hormones secreted from thyroid gland.

.(b) What is thé role of Iodine in the synthesis of T3 and
T,- ) - 242

25. Describe the compound action potential of a mixed nerve.
4

26, Write a short note on ocogenesis. 4
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